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Thesis Title Online State of Charge Estimation of a Lithium-Ion Battery for

Sensor Nodes in Wireless Sensor Networks

Author Mr. Jirawat Chaysaengcharoen
Major Program Electrical Engineering
Academic Year 2013

ABSTRACT

Main energy sources in wireless sensor network are mainly batteries. The
rechargeable lithium-ion battery have been more popular, because it is small, long lifespan, low
cost with higher power ratios compared to other battery types. However, the disadvantages of this
battery is that its terminal voltage remains constant during operation. Therefore, it is impossible to
estimate the energy level remaining in the battery. This limitation of the battery may affect to the
performance of a wireless sensor network system with large numbers of sensor.

This research proposes the method for online state of charge estimation of
lithium-ion battery for a sensor node in wireless sensor networks. The pulse current discharge test
are used to determine the relationship between status of charge and the open circuit voltage. A
circuit is designed and built to draw constant discharge current from the battery for any terminal
voltage value. The pulse voltage responses in any discharging period can be used to estimate the
parameters in the equivalent circuit model of the battery. The online estimation of state of charge
is to measure the operating terminal voltage of the battery and evaluate the open circuit voltage
from the equivalent circuit model of the battery. Finally, the state of charge can be estimated by
using the analysis of the microcontroller. The estimation results are very precision and it can be
applied to the sensor nodes in order to estimates the remaining energy of a node and to the route

packets towards a central node called the sink node.

Keywords: Online estimation, State of Charge, lithium-ion battery.
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1.2.1 Modeling of Lithium Ion Battery with Nonlinear Transfer Resistance [6]
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SOC (%) | R(Q) | R,@Q | C,(A | SOC(%) | R(@Q | R(Q) | C,(F

100%-95% 0.607 0.049 122449 | 55%-50% 0.617 0.039 897.44

95%-90% 0.598 0.049 918.37 50%-45% 0.607 0.039 769.23

90%-85% 0.607 0.049 1020.41 | 45%-40% 0.607 0.039 897.44

85%-80% 0.598 0.049 714.28 40%-35% 0.617 0.039 1025.64

80%-75% 0.607 0.049 1224.48 | 35%-30% 0.617 0.039 1153.85

75%-70% 0.598 0.049 714.28 30%-25% 0.627 0.039 1282.05

70%-65% 0.607 0.049 714.28 25%-20% 0.627 0.039 641.02

65%-60% 0.617 0.049 816.33 20%-15% 0.637 0.039 1428.57

60%-55% 0.607 0.039 641.02 15%-10% 0.637 0.039 859.87
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Ry AV _339-335 (000
| 1.02
Cy=— = _goraar
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a 4 = Y ~ 9 a 4 g)/ ] = Y]
ATYITIVOILUARNDINDOUN 2 IUATUY 18 DU ‘ﬂgulﬂﬂi‘WTiHJm@ﬁ/NﬁiJﬂ 18 YAy INy
v

v a g = ) A o 1 = Y o ~
JUUATNITIVAD TN €] VDIUUARNDINDUN 2 ﬁ'ﬂﬂiﬂuﬁﬂﬁiﬂ%ﬂﬁﬂllﬂ aanaaalunsian

4-2

A3 4-2 AT NN DT UDAVARNDIADUN 2 INATAIUIN

SOC (%) | R(Q) | R,(@ | C,(F) | SOC(%) | R(Q | R, Q) | C,(F)

100%-95% 0.539 0.039 1025.64 | 55%-50% 0.529 0.029 1206.90

95%-90% 0.549 0.039 1282.05 | 50%-45% 0.519 0.029 1379.31

90%-85% 0.539 0.039 897.44 45%-40% 0.519 0.029 1724.14

85%-80% 0.539 0.039 1122.45 | 40%-35% 0.519 0.029 1379.31

80%-75% 0.529 0.039 795.92 35%-30% 0.539 0.029 1379.31

75%-70% 0.539 0.039 897.44 30%-25% 0.529 0.029 1206.90

70%-65% 0.539 0.039 641.02 25%-20% 0.529 0.029 1551.72

65%-60% 0.529 0.039 769.23 20%-15% 0.539 0.029 1379.31

60%-55% 0.529 0.029 1379.31 15%-10% 0.529 0.029 1147.96

ANNAEY 0.532 0.033 | 1176.12
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1 a o { { o
M3 4-3 ‘ﬂTV‘Hﬁ']llWIfJiﬂlﬂﬁllﬂﬂ!@]@dﬁﬁl@u% 3 91NNITATUIN

SOC (%) | R(Q) | R,@Q | C,(A | SOC(%) | R(@Q | R(Q) | C,(F

100%-95% 0.539 0.039 1666.67 | 55%-50% 0.549 0.029 1034.48

95%-90% 0.559 0.039 1410.26 | 50%-45% 0.549 0.029 862.07

90%-85% 0.539 0.039 1025.64 | 45%-40% 0.539 0.029 1206.90

85%-80% 0.539 0.039 897.44 40%-35% 0.539 0.029 1206.90

80%-75% 0.549 0.039 897.44 35%-30% 0.549 0.029 1397.31

75%-70% 0.539 0.039 1025.64 | 30%-25% 0.549 0.029 1397.31

70%-65% 0.549 0.039 1538.46 | 25%-20% 0.559 0.029 1206.90

65%-60% 0.539 0.039 1025.64 | 20%-15% 0.559 0.029 1397.31

60%-55% 0.549 0.029 1034.48 | 15%-10% 0.559 0.029 1016.95

ANUNAE 0.547 0.033 | 1180.43
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AT 4-4 AT NN D T UDAVARNDIADUN 4 2INNTAIUIN

SOC (%) | R(Q) | R,(@ | C,(F) | SOC(%) | R(Q | R, Q) | C,(F)

100%-95% 0.539 0.049 714.28 55%-50% 0.529 0.039 897.44

95%-90% 0.559 0.049 816.33 50%-45% 0.529 0.039 1153.85

90%-85% 0.559 0.049 816.33 45%-40% 0.529 0.039 769.23

85%-80% 0.539 0.049 816.33 40%-35% 0.519 0.039 1025.64

80%-75% 0.529 0.049 816.33 35%-30% 0.519 0.039 512.82

75%-70% 0.519 0.049 612.24 30%-25% 0.519 0.039 897.44

70%-65% 0.519 0.049 612.24 25%-20% 0.529 0.039 641.02

65%-60% 0.519 0.049 714.28 20%-15% 0.519 0.039 1282.05

60%-55% 0.529 0.039 1025.64 | 15%-10% 0.529 0.039 897.44

ANNAEY 0.530 0.043 | 834.50
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Voltage response
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1 a o { { o
M3 N 4-5 ﬂTV‘ni']llWIfJiﬂlﬂﬁllﬂﬂ!@]@%f#@l«!ﬁ 5931NTAUINU

SOC(%) | R(Q | R,(Q) | C,(F) | SOC(%) | R | R,(Q | C,(F)

100%-95% 0.569 0.049 918.37 55%-50% 0.588 0.039 641.02

95%-90% 0.569 0.049 816.33 50%-45% 0.578 0.039 641.02

90%-85% 0.569 0.049 714.28 45%-40% 0.588 0.039 769.23

85%-80% 0.559 0.049 714.28 40%-35% 0.588 0.039 641.02

80%-75% 0.559 0.049 510.20 35%-30% 0.588 0.039 897.44

75%-70% 0.569 0.049 612.24 30%-25% 0.598 0.039 769.23

70%-65% 0.569 0.049 612.24 25%-20% 0.598 0.039 897.44

65%-60% 0.578 0.049 714.28 20%-15% 0.608 0.039 1153.85

60%-55% 0.578 0.039 512.82 15%-10% 0.598 0.039 897.44

ANUNAEY 0.581 0.043 | 739.14
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0.10 0.186/1.85=10.100 4.066 4.129 100 100
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0.30 0.554/1.85=10.299 3.925 4112 100 95
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V(SO0C100%) =4.11

V,=3.49 348 3.47 3.46 3.46 3.44 3.44 3.44 3.43 3.43 3.41 3.43 3.42 3.42 3.42
3.41 3.41 3.40 3.40 3.40 3.39 3.39 3.39 3.40 3.40 3.39 3.39 3.38 3.39 3.38 3.38 3.38 3.37 3.37
3.37 337337V, = 3.99 4.04 4.05 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06
4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06
4.06 4.06 4.06 4.06 4.06 4.06 4.06 V(SOC95%) = 4.06

V,=3.453.43 3.42 3.40 3.40 3.39 3.39 3.38 3.38 3.37 3.37 3.37 3.37 3.35 3.35
3.36 3.35 3.35 3.35 3.35 3.34 3.33 3.34 3.34 3.33 3.34 3.33 3.33 3.33 3.34 3.33 3.32 3.33 3.32
332332332V, =3.934.00 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.02 4.02 4.02
4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02
4.02 4.02 4.02 4.02 4.02 4.02 4.02 V(SOC90%) = 4.02

V,=3.40 3.38 3.37 3.37 3.35 3.34 3.34 3.34 3.33 3.33 3.32 3.31 3.32 3.31 3.31
3.31 3.30 3.30 3.31 3.30 3.29 3.30 3.29 3.29 3.29 3.28 3.29 3.28 3.28 3.28 3.28 3.28 3.28 3.27
3.273.27 327V, =3.903.953.96 3.97 3.97 3.97 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98
3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98
3.98 3.98 3.98 3.98 3.98 3.98 3.98 V(SOC85%) = 3.98

V,=3.373.34 3.33 3.32 3.31 3.31 3.30 3.29 3.29 3.29 3.28 3.29 3.28 3.27 3.27
3.27 3.27 3.26 3.27 3.26 3.25 3.26 3.26 3.26 3.25 3.26 3.25 3.26 3.25 3.25 3.25 3.24 3.25 3.24
324324324V = 3.86 3.91 3.92 3.93 3.93 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94
3.94 3.94 3.94 3.94 3.95 3.94 3.94 3.94 3.94 3.95 3.95 3.94 3.94 3.94 3.94 3.95 3.94 3.94 3.95
3.953.953.95 3.95 3.95 3.95 3.94 V(SOC80%) = 3.95

V,=3.333.313.29 3.29 3.27 3.27 3.26 3.26 3.25 3.25 3.25 3.25 3.24 3.24 3.24
3.23 3.22 3.22 3.22 3.22 3.22 3.22 3.22 3.21 3.21 3.22 3.21 3.21 3.20 3.21 3.21 3.20 3.21 3.21
3.20 3.20 3.19 V__ = 3.83 3.88 3.89 3.90 3.90 3.90 3.90 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91
3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91
3.923.913.923.91 3.92 3.92 3.91 V(SOC75%) = 3.91
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V,=3.303.27 3.27 3.24 3.24 3.24 3.23 3.22 3.22 3.21 3.21 3.20 3.20 3.21 3.20
3.20 3.20 3.19 3.19 3.19 3.19 3.18 3.19 3.17 3.18 3.18 3.18 3.17 3.18 3.17 3.17 3.18 3.16 3.17
3.173.17 3.17 V_, = 3.80 3.85 3.86 3.86 3.86 3.87 3.87 3.87 3.87 3.87 3.87 3.87 3.87 3.87 3.87
3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.89 3.89
3.89 3.89 3.89 3.89 3.89 3.89 3.89 V(SOC70%) = 3.89

V,=3.273.253.233.223.213.213.203.19 3.18 3.19 3.17 3.18 3.17 3.18 3.17
3.17 3.17 3.17 3.16 3.16 3.15 3.16 3.15 3.16 3.16 3.16 3.15 3.15 3.14 3.14 3.14 3.14 3.14 3.14
3.143.14 3,14 V= 3.77 3.82 3.83 3.83 3.83 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84
3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84
3.84 3.84 3.85 3.85 3.85 3.84 3.85 V(SOC65%) = 3.85

V,=3.223213.193.18 3.17 3.17 3.17 3.17 3.15 3.16 3.15 3.14 3.15 3.14 3.15
3.153.14 3.13 3.13 3.14 3.13 3.13 3.13 3.13 3.12 3.13 3.12 3.12 3.12 3.12 3.13 3.13 3.12 3.12
3.133.123.11 V= 3.75 3.80 3.80 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 V(SOC60%) = 3.82

V,=3.203.17 3.16 3.15 3.15 3.14 3.14 3.13 3.13 3.12 3.12 3.13 3.11 3.11 3.12
3.12 3.12 3.11 3.10 3.11 3.10 3.11 3.11 3.10 3.10 3.10 3.11 3.11 3.10 3.10 3.10 3.10 3.10 3.10
3.103.10 3.10 V_, = 3.74 3.78 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.80 3.80 3.80 3.80 3.80 3.80
3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80
3.80 3.80 3.80 3.80 3.80 3.80 3.80 V(SOC55%) = 3.80

V,=3.173.16 3.14 3.13 3.13 3.12 3.12 3.11 3.11 3.11 3.11 3.11 3.10 3.09 3.10
3.10 3.10 3.09 3.08 3.08 3.09 3.09 3.09 3.09 3.08 3.08 3.07 3.08 3.08 3.08 3.07 3.08 3.08 3.07
3.073.07 3.07 V= 3.72 3.76 3.77 3.77 3.77 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78
3.78 3.78 3.78 3.78 3.78 3.79 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78
3.78 3.78 3.78 3.78 3.78 3.78 3.78 V(SOC50%) = 3.78

V,=3.163.14 3.13 3.12 3.11 3.11 3.10 3.10 3.09 3.09 3.08 3.09 3.08 3.08 3.08
3.07 3.08 3.07 3.07 3.07 3.07 3.06 3.07 3.08 3.07 3.07 3.06 3.06 3.07 3.07 3.06 3.06 3.07 3.06
3.06 3.06 3.06 V_ = 3.70 3.75 3.76 3.76 3.76 3.76 3.76 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.77 3,777 3.77 3.777 3.77 3.77 3.77 3.777 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77

3.773.773.77 3.77 3.77 3.77 3.77 V(SOC45%) = 3.77
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V,=3.153.12 3.11 3.10 3.09 3.10 3.09 3.07 3.07 3.08 3.07 3.07 3.06 3.06 3.06
3.07 3.07 3.06 3.06 3.06 3.06 3.06 3.06 3.05 3.05 3.05 3.05 3.04 3.06 3.05 3.04 3.05 3.05 3.06
3.04 3.04 3.04 V= 3.69 3.74 3.75 3.75 3.75 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.77 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.773.76 3.76 3.76 3.76 3.76 3.76 V(SOC40%) = 3.76

V,=3.133.12 3.11 3.10 3.09 3.08 3.08 3.08 3.07 3.07 3.07 3.07 3.07 3.06 3.06
3.05 3.05 3.06 3.05 3.05 3.04 3.05 3.05 3.04 3.04 3.05 3.04 3.04 3.04 3.04 3.04 3.04 3.04 3.04
3.04 3.04 3.04 V= 3.68 3.73 3.73 3.74 3.74 3.74 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75
3.75 3.75 3.75 3.76 3.75 3.75 3.76 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 V(SOC35%) = 3.76

V,=3.13 3.11 3.10 3.09 3.09 3.07 3.07 3.07 3.07 3.06 3.06 3.06 3.04 3.04 3.05
3.05 3.04 3.04 3.04 3.04 3.03 3.04 3.03 3.04 3.03 3.04 3.03 3.02 3.03 3.02 3.02 3.03 3.03 3.02
3.023.01 3.02V, =3.673.713.723.723.72 3.72 3.72 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73
3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.74 3.73 3.73 3.74 3.74 3.74 3.74
3.743.74 3.74 3.73 3.74 3.74 3.74 V(SOC30%) = 3.74

V,=3.10 3.09 3.08 3.06 3.04 3.05 3.05 3.05 3.03 3.04 3.03 3.04 3.03 3.02 3.02
3.02 3.02 3.00 3.01 3.01 3.00 3.00 3.00 3.01 3.01 3.00 2.99 3.00 3.00 3.00 3.00 3.00 3.00 2.99
299299299V = 3.64 3.68 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69
3.69 3.69 3.70 3.70 3.70 3.69 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70
3.70 3.70 3.70 3.70 3.70 3.70 3.70 V(SOC25%) = 3.70

V,=3.06 3.04 3.04 3.02 3.01 3.00 2.99 3.00 3.00 2.99 2.99 2.99 2.98 2.98 2.98
2.97 2.98 2.98 2.97 2.97 2.97 2.97 2.97 2.97 2.97 2.97 2.97 2.96 2.96 2.96 2.96 2.96 2.96 2.96
2.96 2.96 2.96 V_ = 3.61 3.66 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 V(SOC20%) = 3.68

V,=3.033.02 3.01 2.99 2.99 2.98 2.98 2.97 2.97 2.97 2.96 2.96 2.95 2.95 2.94
2.952.95293 294294294 292 293 293 292293 2.92 291 2.91 2.91 2.90 2.91 2.90 2.90
2.902.90 290 V__ = 3.55 3.62 3.64 3.64 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65
3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66

3.66 3.66 3.66 3.66 3.66 3.66 3.66 V(SOC15%) = 3.66
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V,=3.012.99 2.97 2.96 2.96 2.96 2.96 2.95 2.95 2.95 2.94 2.94 2.93 2.93 2.93
2.932.93 292292292292 291 291 2.90 2.90 2.90 2.90 2.89 2.89 2.89 2.89 2.88 2.88 2.88
2.88 2.88 2.88 V__ = 3.53 3.60 3.62 3.62 3.63 3.63 3.63 3.36 3.63 3.63 3.63 3.63 3.63 3.63 3.63
3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64

3.64 3.64 3.64 3.64 3.64 3.64 3.64 V(SOC10%) = 3.64

Nﬁﬂ1iﬂﬂﬁ®ﬁ!mﬂ!ﬂﬂéﬁﬂuﬁ 2

V(SOC100%) = 4.11

V,=3.56 3.55 3.54 3.52 3.52 3.51 3.50 3.50 3.49 3.49 3.50 3.48 3.49 3.48 3.49
3.48 3.48 3.48 3.47 3.47 3.47 3.47 3.47 3.47 3.47 3.47 3.46 3.46 3.47 3.47 3.46 3.46 3.45 3.46
3.453.45345V  =4.00 4.05 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06
4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06
4.06 4.06 4.06 4.06 4.06 4.06 4.06 V(SOC95%) = 4.07

V,=3.513.47 3.47 3.46 3.45 3.45 3.44 3.45 3.44 3.44 3.43 3.42 3.43 3.43 3.43
3.42 3.42 3.42 3.41 3.41 3.41 3.40 3.41 3.41 3.41 3.40 3.40 3.40 3.40 3.39 3.39 3.40 3.40 3.39
3.393.39 339V, = 3.94 4.00 4.01 4.01 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.01
4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02
4.02 4.02 4.02 4.02 4.02 4.02 4.02 V(SOC90%) = 4.02

V,=3.473.44 3.43 3.42 3.41 3.40 3.40 3.39 3.39 3.39 3.40 3.38 3.37 3.38 3.38
3.38 3.36 3.37 3.36 3.37 3.36 3.36 3.36 3.36 3.36 3.36 3.36 3.35 3.35 3.35 3.35 3.35 3.35 3.35
3.353.35335V =391 3.963.97 3.97 3.97 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98
3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98
3.98 3.98 3.98 3.98 3.98 3.98 3.98 V(SOC85%) = 3.98

V,=3.43 3.40 3.39 3.38 3.37 3.36 3.37 3.36 3.35 3.35 3.35 3.34 3.34 3.33 3.34
3.33 3.33 3.33 3.33 3.32 3.32 3.32 3.31 3.31 3.31 3.31 3.31 3.31 3.31 3.31 3.31 3.31 3.31 3.31
3.313.303.30 V= 3.863.92 3.93 3.93 3.93 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.95 3.94 3.94
3.94 3.95 3.94 3.95 3.94 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95
3.953.953.95 3.95 3.95 3.95 3.95 V(SOC80%) = 3.95
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V,=3.413.36 3.35 3.34 3.34 3.34 3.33 3.32 3.32 3.31 3.32 3.31 3.31 3.30 3.30
3.30 3.30 3.29 3.29 3.29 3.29 3.29 3.28 3.29 3.29 3.29 3.29 3.29 3.28 3.29 3.29 3.28 3.28 3.28
3.28 3.28 3.28 V= 3.83 3.88 3.89 3.90 3.90 3.90 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91
3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.92 3.91 3.92 3.91 3.91 3.91 3.92 3.92 3.92 3.92
3.923.913.923.92 3.92 3.92 3.92 V(SOC75%) = 3.92

V,=3.373.34 3.32 3.32 3.31 3.31 3.30 3.29 3.29 3.29 3.28 3.27 3.28 3.28 3.27
3.27 3.27 3.27 3.26 3.26 3.26 3.27 3.26 3.26 3.26 3.26 3.25 3.25 3.26 3.26 3.25 3.25 3.25 3.25
325325325V, = 3.80 3.85 3.86 3.86 3.87 3.87 3.87 3.87 3.87 3.87 3.87 3.87 3.88 3.88 3.88
3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.89 3.88 3.88 3.89 3.89 3.89 3.89 3.89 3.89
3.89 3.89 3.89 3.89 3.89 3.89 3.89 V(SOC70%) = 3.89

V,=3.343.31 3.30 3.29 3.28 3.27 3.26 3.27 3.26 3.27 3.26 3.26 3.26 3.25 3.25
3.25 3.25 3.25 3.25 3.24 3.25 3.24 3.24 3.24 3.24 3.23 3.24 3.24 3.24 3.23 3.23 3.23 3.23 3.23
323323323V, =3.783.83 3.83 3.83 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84
3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85
3.853.84 3.85 3.85 3.85 3.85 3.85 V(SOC65%) = 3.85

V,=3.313.273.27 3.26 3.26 3.26 3.25 3.25 3.25 3.24 3.24 3.24 3.24 3.24 3.23
3.23 3.22 3.23 3.22 3.23 3.22 3.22 3.22 3.22 3.22 3.21 3.22 3.22 3.21 3.22 3.22 3.22 3.22 3.22
321321321V, =376 3.80 3.81 3.81 3.81 3.81 3.81 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 V(SOC60%) = 3.82

V,= 328327 3.26 3.24 3.24 3.24 3.24 3.24 3.23 3.24 3.23 3.22 3.22 3.22 3.22
3.23 3.22 3.22 3.21 3.22 3.20 3.21 3.22 3.21 3.20 3.19 3.20 3.21 3.21 3.20 3.20 3.20 3.20 3.19
3.203.203.20 V= 3.74 3.78 3.79 3.79 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80
3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80
3.80 3.80 3.80 3.80 3.80 3.80 3.80 V(SOC55%) = 3.80

V,=3.263.253.24 3.24 3.22 3.22 3.22 3.21 3.22 3.21 3.20 3.20 3.20 3.20 3.19
3.20 3.21 3.19 3.19 3.19 3.19 3.19 3.20 3.19 3.18 3.19 3.19 3.20 3.17 3.20 3.18 3.19 3.17 3.17
3.193.18 3.18 V= 3.72 3.77 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.79 3.79 3.78 3.78 3.78
3.78 3.78 3.79 3.78 3.78 3.78 3.78 3.78 3.79 3.78 3.79 3.78 3.79 3.79 3.78 3.79 3.79 3.79 3.79

3.78 3.78 3.78 3.78 3.78 3.78 3.78 V(SOC50%) = 3.78
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V,=3.253243.233.213.213.21 3.21 3.21 3.19 3.19 3.20 3.19 3.19 3.19 3.20
3.19 3.17 3.18 3.18 3.18 3.18 3.18 3.18 3.17 3.17 3.17 3.16 3.17 3.17 3.17 3.17 3.17 3.17 3.17
317317 3.17 V= 3.71 3.76 3.76 3.76 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.77 3,777 3.77 3.777 3.77 3.77 3.77 3.77 3.77 3.77 3.78 3.77 3.77 3.77 3.77 3.77 3.78 3.77 3.77
3.773.773.77 3.77 3.77 3.78 3.77 V(SOC45%) = 3.77

V,=3.243223.223.19 3.20 3.19 3.20 3.19 3.20 3.20 3.17 3.18 3.18 3.18 3.18
3.18 3.16 3.16 3.17 3.17 3.16 3.17 3.18 3.17 3.16 3.16 3.16 3.17 3.16 3.15 3.17 3.17 3.17 3.17
3.153.153.15 V= 3.70 3.74 3.75 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.77 3.77 3.76 3.76 3.76 V(SOC40%) = 3.76

V,=3.233223.213.193.18 3.18 3.17 3.18 3.17 3.17 3.18 3.17 3.16 3.16 3.16
3.16 3.15 3.15 3.16 3.16 3.16 3.16 3.16 3.15 3.16 3.16 3.15 3.15 3.15 3.14 3.15 3.15 3.16 3.15
3.153.153.14 V= 3.69 3.73 3.74 3.74 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75
3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 V(SOC35%) = 3.76

V,=3.213.18 3.16 3.17 3.16 3.16 3.15 3.16 3.15 3.15 3.14 3.13 3.14 3.14 3.13
3.13 3,12 3.12 3.13 3.12 3.13 3.12 3.13 3.12 3.12 3.12 3.12 3.12 3.12 3.12 3.12 3.12 3.12 3.12
3.123.12 3,12V, = 3.68 3.72 3.73 3.73 3.73 3.73 3.73 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74
3.74 3.774 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74
3.743.74 3.74 3.74 3.74 3.74 3.75 V(SOC30%) = 3.74

V,=3.203.17 3.16 3.15 3.15 3.15 3.14 3.13 3.14 3.14 3.14 3.12 3.12 3.12 3.12
3.12 3.12 3.11 3.11 3.10 3.11 3.11 3.11 3.11 3.11 3.11 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.10
3.103.10 3.10 V= 3.66 3.70 3.70 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71
3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.72 3.72 3.71 3.72 3.71 3.72 3.72
3.723.723.72 3.71 3.72 3.72 3.72 V(SOC25%) = 3.72

V,=3.183.153.14 3.14 3.13 3.12 3.12 3.12 3.12 3.10 3.11 3.10 3.09 3.10 3.10
3.10 3.09 3.09 3.09 3.09 3.09 3.09 3.09 3.08 3.08 3.08 3.08 3.08 3.08 3.08 3.08 3.08 3.08 3.08
3.08 3.08 3.08 V_, = 3.63 3.67 3.67 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68

3.68 3.68 3.68 3.68 3.68 3.68 3.68 V(SOC20%) = 3.68
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V,=3.13 3.10 3.10 3.09 3.07 3.08 3.07 3.07 3.06 3.07 3.05 3.06 3.05 3.05 3.05
3.05 3.05 3.05 3.05 3.04 3.05 3.04 3.04 3.04 3.04 3.04 3.04 3.04 3.04 3.03 3.04 3.03 3.03 3.03
3.03 3.03 3.03 V_, = 3.59 3.65 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.67 3.67 3.67 3.67 3.67 3.67
3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67
3.67 3.67 3.67 3.67 3.67 3.67 3.67 V(SOC15%) = 3.67

V,=3.11 3.09 3.07 3.06 3.06 3.06 3.06 3.05 3.05 3.05 3.04 3.04 3.03 3.03 3.03
3.03 3.03 3.03 3.02 3.02 3.02 3.02 3.01 3.01 3.01 3.01 3.01 3.01 3.01 3.01 3.01 3.00 3.00 3.00
3.00 3.00 3.00 V= 3.55 3.62 3.63 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.65 3.65 3.65
3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65
3.65 3.65 3.65 3.65 3.65 3.65 3.65 V(SOC10%) = 3.65

wamsmamumma’%‘ﬁwﬁ 3

V(SOC100%) =4.11

V,=3.56 3.54 3.53 3.52 3.52 3.51 3.50 3.50 3.50 3.49 3.49 3.49 3.49 3.48 3.48
3.47 3.47 3.47 3.47 3.47 3.47 3.47 3.46 3.46 3.47 3.46 3.45 3.46 3.46 3.45 3.46 3.45 3.45 3.45
3.453.44 344 V = 4.00 4.05 4.06 4.06 4.06 4.06 4.06 4.06 4.07 4.06 4.07 4.07 4.06 4.06 4.07
4.06 4.07 4.06 4.07 4.07 4.07 4.07 4.06 4.07 4.07 4.07 4.07 4.07 4.07 4.07 4.07 4.07 4.07 4.07
4.07 4.07 4.07 4.07 4.07 4.07 4.07 V(SOC95%) = 4.07

V,=3.503.47 3.47 3.46 3.47 3.46 3.45 3.44 3.43 3.43 3.43 3.42 3.43 3.4]1 3.42
3.42 3.41 3.41 3.41 3.40 3.40 3.40 3.39 3.40 3.40 3.40 3.40 3.40 3.39 3.39 3.39 3.38 3.39 3.39
3.383.39338 V_, =3.94 4.00 4.01 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02
4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02
4.02 4.02 4.02 4.02 4.03 4.02 4.02 V(SOC90%) = 4.02

V,=3.47 3.45 3.42 3.42 3.41 3.40 3.40 3.40 3.39 3.39 3.37 3.38 3.39 3.37 3.37
3.37 3.37 3.37 3.37 3.36 3.37 3.36 3.36 3.35 3.35 3.35 3.35 3.35 3.35 3.34 3.34 3.34 3.34 3.34
333334334V =3913.96 397 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98
3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.99 3.98 3.98 3.99
3.98 3.99 3.98 3.99 3.99 3.99 3.99 V(SOC85%) = 3.98
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V,=3.433.41 3.39 3.38 3.38 3.37 3.36 3.35 3.35 3.34 3.34 3.34 3.34 3.33 3.33
3.33 3.32 3.33 3.32 3.32 3.33 3.32 3.32 3.32 3.31 3.31 3.31 3.31 3.30 3.31 3.31 3.30 3.30 3.30
3.30 3.30 3.30 V= 3.87 3.92 3.93 3.94 3.94 3.94 3.94 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95
3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95
3.95 3.953.95 3.95 3.95 3.95 3.95 V(SOC80%) = 3.95

V,=3.393.36 3.36 3.35 3.34 3.34 3.33 3.31 3.32 3.31 3.30 3.31 3.30 3.30 3.30
3.30 3.29 3.30 3.29 3.29 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.28
3.283.28 3.28 V= 3.84 3.89 3.90 3.90 3.91 3.91 3.91 3.91 3.91 3.91 3.92 3.91 3.92 3.92 3.92
3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92 3.92
3.923.923.923.92 3.92 3.92 3.92 V(SOC75%) = 3.92

V,=3.373.33 3.33 3.32 3.31 3.30 3.30 3.30 3.29 3.28 3.27 3.28 3.27 3.27 3.27
3.27 3.26 3.27 3.26 3.26 3.26 3.26 3.26 3.25 3.25 3.25 3.26 3.25 3.26 3.25 3.25 3.24 3.25 3.24
3.24 323324V = 3.81 3.85 3.86 3.87 3.87 3.87 3.87 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.89
3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89
3.89 3.89 3.89 3.89 3.89 3.89 3.89 V(SOC70%) = 3.89

V,=3.333.31 3.30 3.29 3.28 3.28 3.27 3.27 3.26 3.26 3.26 3.26 3.25 3.25 3.25
3.25 3.25 3.24 3.24 3.24 3.23 3.24 3.24 3.23 3.23 3.24 3.23 3.23 3.23 3.22 3.22 3.22 3.22 3.23
322321321V, =378 3.823.83 3.84 3.84 3.84 3.84 3.84 3.84 3.85 3.85 3.85 3.85 3.85 3.85
3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85
3.85 3.853.85 3.85 3.85 3.85 3.85 V(SOC65%) = 3.85

V,=3.303.27 3.26 3.25 3.24 3.24 3.24 3.24 3.23 3.23 3.23 3.22 3.22 3.22 3.22
3.22 3.22 3.21 3.21 3.20 3.21 3.20 3.20 3.20 3.20 3.21 3.21 3.21 3.20 3.20 3.20 3.20 3.20 3.20
3.193.20 3.19 V= 3.76 3.80 3.81 3.81 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 V(SOC60%) = 3.82

V,=3.263.24 3.23 3.22 3.22 3.22 3.21 3.21 3.20 3.21 3.20 3.19 3.19 3.19 3.19
3.20 3.19 3.19 3.18 3.19 3.19 3.18 3.18 3.19 3.19 3.19 3.18 3.18 3.18 3.18 3.18 3.17 3.18 3.17
3.173.18 3.18 V= 3.74 3.78 3.79 3.79 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80
3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80

3.80 3.80 3.80 3.80 3.80 3.80 3.80 V(SOC55%) = 3.80
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V,=3.24 323 3.22 3.22 3.20 3.20 3.19 3.19 3.19 3.19 3.19 3.18 3.18 3.18 3.17
3.18 3.17 3.17 3.17 3.17 3.17 3.16 3.17 3.17 3.17 3.17 3.17 3.16 3.16 3.16 3.16 3.16 3.16 3.16
3.163.16 3.16 V_ = 3.73 3.77 3.77 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78
3.78 3.78 3.79 3.78 3.78 3.78 3.79 3.78 3.79 3.78 3.78 3.79 3.78 3.78 3.79 3.79 3.78 3.78 3.78
3.793.79 3.78 3.79 3.79 3.79 3.79 V(SOC50%) = 3.79

V,=3.233.213.203.20 3.19 3.18 3.18 3.17 3.17 3.17 3.17 3.17 3.16 3.16 3.16
3.16 3.16 3.16 3.16 3.16 3.16 3.15 3.15 3.14 3.16 3.15 3.15 3.15 3.15 3.15 3.15 3.14 3.15 3.14
3.143.153.15 V= 3.71 3.75 3.76 3.76 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.77 3.777 3.77 3.777 3.77 3.77 3.77 3.777 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.773.773.77 3.77 3.77 3.77 3.77 V(SOC45%) = 3.77

V,=3.223203.193.18 3.17 3.17 3.17 3.16 3.15 3.16 3.15 3.15 3.15 3.15 3.15
3.153.15 3.15 3.14 3.14 3.14 3.14 3.15 3.13 3.13 3.13 3.14 3.14 3.14 3.14 3.14 3.14 3.14 3.14
3.143.14 3,13 V= 3.70 3.74 3.75 3.75 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 V(SOC40%) = 3.76

V,=3.213.203.18 3.17 3.17 3.17 3.15 3.15 3.15 3.15 3.14 3.14 3.14 3.14 3.13
3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.12 3.12 3.12 3.13 3.13 3.12 3.12
3.123.123.12 V= 3.69 3.73 3.74 3.74 3.74 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75
3.75 3.76 3.75 3.75 3.76 3.76 3.76 3.76 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 V(SOC35%) =3.76

V,=3.203.17 3.17 3.16 3.16 3.14 3.15 3.15 3.13 3.13 3.14 3.14 3.13 3.13 3.13
3.12 3.13 3.12 3.12 3.12 3.11 3.12 3.11 3.12 3.11 3.12 3.11 3.11 3.11 3.11 3.10 3.11 3.11 3.10
3.113.09 3.09 V= 3.68 3.71 3.72 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.74 3.74 3.74 3.74
3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74
3.743.74 3.74 3.74 3.74 3.74 3.74 V(SOC30%) = 3.74

V,=3.183.16 3.14 3.14 3.14 3.13 3.12 3.13 3.11 3.12 3.11 3.11 3.11 3.11 3.11
3.10 3.10 3.10 3.09 3.10 3.10 3.09 3.09 3.08 3.08 3.08 3.08 3.09 3.08 3.09 3.08 3.08 3.08 3.08
3.08 3.08 3.08 V_, = 3.65 3.69 3.69 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70 3.70
3.70 3.70 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.70 3.71 3.71 3.71 3.71

3.70 3.71 3.71 3.71 3.71 3.71 3.71 V(SOC25%) =3.71
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V,=3.143.13 3.12 3.11 3.10 3.10 3.08 3.08 3.08 3.08 3.07 3.07 3.07 3.07 3.07
3.06 3.07 3.06 3.06 3.06 3.05 3.05 3.06 3.05 3.05 3.05 3.05 3.04 3.05 3.05 3.05 3.04 3.05 3.05
3.04 3.04 3.04 V= 3.62 3.67 3.67 3.67 3.67 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 V(SOC20%) = 3.68

V,=3.11 3.09 3.07 3.08 3.07 3.06 3.06 3.06 3.05 3.04 3.05 3.04 3.04 3.04 3.04
3.04 3.04 3.04 3.04 3.03 3.03 3.03 3.03 3.03 3.02 3.02 3.02 3.02 3.01 3.01 3.01 3.01 3.00 3.00
3.00 3.00 3.00 V= 3.58 3.64 3.65 3.66 3.66 3.66 3.66 3.66 3.67 3.67 3.67 3.67 3.67 3.67 3.67
3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67
3.67 3.67 3.67 3.67 3.67 3.67 3.67 V(SOC15%) = 3.67

V,=3.10 3.08 3.07 3.06 3.05 3.05 3.04 3.04 3.04 3.03 3.03 3.03 3.03 3.02 3.02
3.02 3.02 3.02 3.02 3.01 3.01 3.01 3.01 3.00 3.00 3.00 3.00 2.99 2.99 2.99 2.99 2.98 2.98 2.98
298298 298 V= 3.553.62 3.63 3.64 3.64 3.64 3.64 3.64 3.64 3.65 3.65 3.65 3.65 3.65 3.65
3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65

3.65 3.65 3.65 3.65 3.65 3.65 3.65 V(SOC10%) = 3.65
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V(SOC100%) = 4.15

V,=3.60 3.57 3.56 3.54 3.54 3.53 3.53 3.52 3.52 3.51 3.52 3.51 3.50 3.50 3.50
3.50 3.50 3.50 3.50 3.50 3.50 3.49 3.48 3.48 3.48 3.48 3.48 3.48 3.48 3.48 3.47 3.47 3.47 3.47
3.47 347347V =404 4.09 4.10 4.10 4.11 4.10 4.11 4.10 4.10 4.10 4.10 4.10 4.10 4.10 4.10
4.10 4.10 4.11 4.11 4.10 4.11 4.10 4.11 4.11 4.11 4.10 4.11 4.10 4.10 4.10 4.10 4.10 4.11 4.11
4.114.114.104.11 4.11 4.11 4.11 V(SOC95%) = 4.11

V,=3.54 3.51 3.50 3.48 3.48 3.47 3.47 3.47 3.46 3.46 3.46 3.45 3.45 3.45 3.45
3.45 3.44 3.44 3.43 3.43 3.44 3.43 3.43 3.43 3.43 3.42 3.42 3.42 3.42 3.42 3.42 3.42 3.41 341
3.413.41 341 V_ = 3.99 4.04 4.05 4.05 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06
4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06 4.06
4.06 4.06 4.06 4.06 4.06 4.06 4.06 V(SOC90%) = 4.06
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V,=3.493.47 3.453.44 3.44 3.43 3.42 3.42 3.41 3.42 3.41 3.40 3.40 3.40 3.40
3.39 3.39 3.39 3.39 3.38 3.39 3.38 3.38 3.38 3.37 3.38 3.37 3.37 3.37 3.37 3.37 3.37 3.37 3.37
3.36 3.36 3.36 'V, = 3.94 3.99 4.01 4.01 4.01 4.01 4.01 4.01 4.02 4.02 4.02 4.02 4.02 4.02 4.02
4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02 4.02
4.02 4.02 4.02 4.02 4.02 4.02 4.02 V(SOC85%) = 4.02

V,=3.47 3.43 3.42 3.41 3.40 3.39 3.39 3.39 3.38 3.37 3.37 3.37 3.36 3.36 3.36
3.36 3.36 3.36 3.35 3.36 3.35 3.36 3.35 3.35 3.34 3.34 3.34 3.34 3.34 3.34 3.34 3.34 3.34 3.34
3.333.333.33V,_ =3.903.953.963.97 3.97 3.97 3.97 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98
3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98 3.98
3.98 3.98 3.98 3.98 3.98 3.98 3.98 V(SOC80%) = 3.98

V,=3.44 3.41 3.39 3.39 3.38 3.37 3.36 3.37 3.36 3.36 3.35 3.35 3.35 3.34 3.34
3.34 3.34 3.34 3.34 3.34 3.33 3.33 3.33 3.33 3.33 3.33 3.32 3.32 3.32 3.33 3.32 3.32 3.31 3.32
331331331V, =3.873.913.923.933.933.933.943.943.943.94 394394394394 394
3.94 3.94 3.94 3.95 3.95 3.94 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95 3.95
3.95 3.95 3.95 3.95 3.95 3.95 3.95 V(SOC75%) = 3.95

V,=3.423.39 3.37 3.36 3.35 3.35 3.34 3.34 3.34 3.34 3.33 3.32 3.32 3.32 3.31
3.31 3.31 3.31 3.31 3.31 3.31 3.31 3.30 3.30 3.31 3.30 3.30 3.30 3.29 3.30 3.30 3.29 3.29 3.29
3.293.29329 V = 3.84 3.89 3.90 3.90 3.90 3.90 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91
3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.92 3.92 3.92 3.92 3.91 3.92 3.92
3.923.923.92 3.923.923.92 3.92 V(SOC70%) =3.92

V,=3.393.36 3.35 3.33 3.32 3.32 3.31 3.30 3.30 3.30 3.30 3.29 3.30 3.29 3.29
3.28 3.29 3.28 3.28 3.28 3.28 3.28 3.27 3.27 3.27 3.27 3.27 3.27 3.27 3.27 3.26 3.27 3.26 3.27
3.26 3.26 3.26 V= 3.81 3.86 3.86 3.87 3.87 3.87 3.87 3.87 3.87 3.88 3.88 3.88 3.88 3.88 3.88
3.88 3.88 3.88 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89 3.89
3.89 3.89 3.89 3.89 3.89 3.89 3.89 V(SOC65%) = 3.89

V,=3.36 3.32 3.31 3.30 3.29 3.29 3.29 3.28 3.28 3.27 3.27 3.26 3.26 3.26 3.26
3.26 3.26 3.26 3.26 3.26 3.26 3.26 3.25 3.25 3.25 3.25 3.24 3.25 3.25 3.25 3.25 3.24 3.24 3.24
324324324V = 3.79 3.83 3.83 3.84 3.84 3.84 3.84 3.84 3.84 3.85 3.85 3.85 3.85 3.85 3.85
3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85 3.85

3.853.853.85 3.85 3.85 3.85 3.85 V(SOC60%) = 3.85
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V,=3.313.29 3.27 3.26 3.26 3.26 3.26 3.26 3.24 3.25 3.25 3.25 3.24 3.24 3.24
3.24 3.23 3.23 3.23 3.23 3.24 3.23 3.23 3.23 3.22 3.23 3.23 3.22 3.22 3.22 3.22 3.22 3.22 3.22
322322322V =377 3.81 3.81 3.81 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82 3.82
3.82 3.82 3.82 3.82 3.82 3.82 3.82 V(SOC55%) = 3.82

V,=3.283.26 3.25 3.24 3.23 3.24 3.23 3.22 3.22 3.22 3.21 3.21 3.22 3.21 3.21
3.21 3.20 3.21 3.21 3.20 3.20 3.20 3.20 3.20 3.20 3.20 3.20 3.20 3.20 3.20 3.19 3.19 3.20 3.20
3.193.193.19 V= 3.75 3.79 3.79 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80
3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80 3.80
3.80 3.80 3.80 3.80 3.80 3.80 3.80 V(SOC50%) = 3.80

V,=3.263.243.233.223223.213.213.213.21 3.20 3.20 3.19 3.20 3.19 3.19
3.19 3.19 3.18 3.19 3.18 3.18 3.19 3.18 3.18 3.18 3.18 3.18 3.18 3.18 3.18 3.18 3.18 3.18 3.18
3.183.18 3.17 V= 3.73 3.77 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.79 3.78 3.79 3.79 3.78 3.78
3.79 3.79 3.79 3.78 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.79
3.793.79 3.79 3.79 3.79 3.79 3.78 V(SOC45%) = 3.79

V,=3.253.233223.213.213.20 3.19 3.19 3.19 3.19 3.19 3.18 3.18 3.18 3.18
3.18 3.18 3.18 3.17 3.18 3.17 3.17 3.18 3.17 3.17 3.17 3.17 3.17 3.17 3.17 3.17 3.16 3.17 3.16
3.16 3.16 3.16 V_ = 3.71 3.75 3.76 3.76 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.77 3.777 3.77 3.777 3.77 3.78 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.773.773.78 3.77 3.77 3.77 3.77 V(SOC40%) = 3.77

V,=3.243223.203.203.19 3.19 3.19 3.19 3.18 3.17 3.18 3.17 3.17 3.17 3.17
3.16 3.16 3.16 3.16 3.16 3.16 3.16 3.16 3.16 3.16 3.16 3.15 3.15 3.16 3.15 3.16 3.16 3.15 3.15
3.153.153.14 V= 3.70 3.74 3.75 3.75 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.77 3.77 3.76 3.76 3.77 3.77 3.77 3.76 3.77 3.76 3.77
3.773.773.77 3.77 3.77 3.77 3.77 V(SOC35%) = 3.77

V,=3.243213.193.19 3.18 3.18 3.17 3.17 3.17 3.16 3.17 3.16 3.16 3.16 3.16
3.16 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.14 3.14 3.14
3.143.14 3.14 V= 3.69 3.73 3.74 3.74 3.74 3.74 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75
3.75 3.75 3.75 3.75 3.75 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.75 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 V(SOC30%) = 3.76
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V,=3.233.203.193.18 3.18 3.17 3.17 3.16 3.16 3.16 3.16 3.16 3.15 3.15 3.15
3.153.14 3.15 3.14 3.14 3.14 3.14 3.14 3.14 3.14 3.14 3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.13
312312312V, = 3.68 3.71 3.72 3.73 3.73 3.73 3.73 3.73 3.74 3.74 3.74 3.74 3.74 3.74 3.74
3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.74 3.75 3.74 3.74 3.74 3.75 3.75 3.74
3.753.753.75 3.75 3.74 3.74 3.75 V(SOC25%) = 3.75

V,=3.213.19 3.17 3.17 3.16 3.15 3.15 3.15 3.15 3.14 3.14 3.14 3.14 3.13 3.14
3.133.13 3.13 3.13 3.13 3.12 3.12 3.12 3.12 3.12 3.12 3.11 3.11 3.11 3.11 3.11 3.11 3.11 3.11
3.113.11 3.11 V= 3.66 3.69 3.70 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71 3.71
3.723.723.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72 3.72
3.723.72 3.72 3.72 3.72 3.72 3.72 V(SOC20%) = 3.72

V,=3.193.16 3.15 3.14 3.14 3.13 3.13 3.13 3.12 3.12 3.11 3.11 3.11 3.11 3.10
3.10 3.10 3.10 3.10 3.09 3.09 3.09 3.09 3.09 3.09 3.09 3.08 3.08 3.08 3.08 3.08 3.08 3.08 3.08
3.08 3.08 3.07 V_, = 3.63 3.67 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 V(SOC15%) = 3.68

V,=3.14 3.11 3.11 3.10 3.09 3.09 3.09 3.08 3.08 3.07 3.08 3.08 3.07 3.07 3.06
3.07 3.07 3.07 3.06 3.06 3.06 3.06 3.06 3.06 3.06 3.06 3.05 3.06 3.05 3.05 3.05 3.05 3.05 3.05
3.04 3.04 3.04 V . = 3.60 3.65 3.66 3.66 3.66 3.66 3.67 3.66 3.67 3.67 3.67 3.67 3.67 3.67 3.67
3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67

3.67 3.67 3.67 3.67 3.67 3.67 3.67 V(SOC10%) = 3.67

wamamamammma%"ﬁ'auﬁ 5

V(SOC100%) = 4.09

V,=3.513.48 3.47 3.47 3.46 3.46 3.45 3.45 3.45 3.44 3.44 3.43 3.43 3.42 3.43
3.42 3.42 3.42 3.41 3.42 3.41 3.41 3.41 3.41 3.40 3.40 3.40 3.39 3.40 3.40 3.40 3.40 3.39 3.39
3.393.39 339V, = 3.99 4.04 4.04 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05
4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05 4.05
4.05 4.05 4.05 4.05 4.05 4.05 4.05 V(SOC95%) = 4.05
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V,=3.473.453.43 3.42 3.41 3.41 3.41 3.40 3.39 3.39 3.38 3.38 3.37 3.37 3.38
3.37 3.37 3.36 3.36 3.37 3.36 3.36 3.36 3.36 3.36 3.35 3.35 3.35 3.35 3.35 3.35 3.35 3.34 3.34
3.343.34 3.34 V= 3.93 3.99 4.00 4.00 4.00 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01
4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01 4.01
4.01 4.01 4.01 4.01 4.01 4.01 4.01 V(SOC90%) = 4.01

V,=3.43 3.40 3.39 3.38 3.37 3.36 3.36 3.35 3.35 3.35 3.34 3.34 3.34 3.34 3.33
3.33 3.33 3.32 3.32 3.32 3.32 3.32 3.32 3.31 3.31 3.31 3.31 3.31 3.31 3.30 3.31 3.31 3.31 3.30
3.30 3.30 3.30 V= 3.90 3.95 3.96 3.96 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97
3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97 3.97
3.973.973.97 3.97 3.97 3.97 3.97 V(SOC85%) = 3.97

V,=3.40 3.37 3.35 3.34 3.33 3.33 3.32 3.31 3.31 3.31 3.30 3.30 3.30 3.30 3.29
3.29 3.29 3.29 3.28 3.28 3.28 3.28 3.28 3.28 3.28 3.27 3.27 3.27 3.27 3.27 3.27 3.27 3.27 3.26
3.26 3.26 3.26 V= 3.86 3.91 3.91 3.92 3.93 3.93 3.93 3.93 3.94 3.93 3.94 3.94 3.94 3.94 3.94
3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94 3.94
3.94 3.94 3.94 3.94 3.94 3.94 3.94 V(SOC80%) = 3.94

V,=3.373.33 3.31 3.30 3.29 3.28 3.28 3.28 3.28 3.27 3.27 3.26 3.26 3.26 3.26
3.26 3.26 3.25 3.25 3.25 3.25 3.25 3.25 3.25 3.25 3.24 3.24 3.24 3.24 3.24 3.24 3.24 3.23 3.24
3.233.23323 V = 3.83 3.88 3.89 3.89 3.89 3.90 3.90 3.90 3.90 3.90 3.90 3.91 3.91 3.91 3.91
3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91 3.91
3.91 3.91 3.91 3.91 3.91 3.91 3.91 V(SOC75%) =3.91

V,=3.333.30 3.29 3.27 3.26 3.26 3.25 3.25 3.25 3.25 3.24 3.24 3.24 3.23 3.23
3.23 3.22 3.23 3.22 3.22 3.22 3.22 3.22 3.22 3.21 3.22 3.22 3.21 3.21 3.21 3.20 3.20 3.21 3.20
3.20 3.20 3.20 V= 3.80 3.85 3.85 3.86 3.86 3.86 3.86 3.86 3.86 3.87 3.87 3.87 3.87 3.87 3.87
3.87 3.87 3.87 3.87 3.87 3.87 3.88 3.87 3.87 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88 3.88
3.88 3.88 3.88 3.88 3.88 3.88 3.88 V(SOC70%) = 3.88

V,=3.303.27 3.25 3.25 3.24 3.23 3.22 3.22 3.22 3.21 3.21 3.20 3.20 3.21 3.20
3.20 3.20 3.20 3.20 3.19 3.19 3.19 3.19 3.19 3.19 3.19 3.19 3.18 3.19 3.18 3.18 3.19 3.18 3.18
3.18 3.18 3.18 V_, = 3.78 3.82 3.83 3.83 3.83 3.83 3.83 3.83 3.84 3.84 3.84 3.84 3.84 3.84 3.84
3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84 3.84

3.84 3.84 3.84 3.84 3.84 3.84 3.84 V(SOC65%) = 3.84
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V,=3.253223.213.203.19 3.19 3.19 3.17 3.18 3.17 3.17 3.17 3.17 3.17 3.17
3.16 3.16 3.16 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.15 3.14 3.14 3.14 3.14 3.14 3.14 3.14
3.143.14 3.14 V= 3.76 3.80 3.80 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81
3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.81 3.82 3.81 3.81 3.81
3.81 3.81 3.81 3.81 3.81 3.81 3.82 V(SOC60%) = 3.81

V,=3.223203.18 3.18 3.16 3.16 3.16 3.15 3.15 3.15 3.15 3.14 3.14 3.14 3.14
3.14 3.14 3.14 3.14 3.14 3.14 3.13 3.13 3.13 3.13 3.13 3.13 3.13 3.12 3.13 3.13 3.13 3.13 3.12
3.133.13 3.12 V= 3.74 3.78 3.78 3.79 3.79 3.79 3.79 3.79 3.79 3.79 3.80 3.79 3.79 3.79 3.79
3.79 3.79 3.79 3.79 3.79 3.80 3.79 3.79 3.79 3.80 3.79 3.80 3.79 3.79 3.79 3.79 3.80 3.79 3.79
3.793.79 3.80 3.79 3.79 3.79 3.79 V(SOC55%) = 3.80

V,=3.203.17 3.16 3.15 3.15 3.14 3.14 3.14 3.14 3.13 3.13 3.13 3.13 3.13 3.12
3.12 3,12 3.12 3.11 3.12 3.12 3.11 3.12 3.11 3.11 3.12 3.11 3.11 3.11 3.11 3.11 3.11 3.11 3.11
311311 3.11 'V = 3.73 3.76 3.77 3.77 3.77 3.77 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78
3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78 3.78
3.78 3.78 3.78 3.78 3.78 3.78 3.78 V(SOC50%) = 3.78

V,=3.193.16 3.153.14 3.14 3.13 3.13 3.12 3.12 3.12 3.11 3.11 3.11 3.11 3.11
3.10 3.10 3.11 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.09 3.09 3.09 3.09 3.10 3.10 3.09 3.10 3.10
3.09 3.09 3.09 V = 3.71 3.75 3.76 3.76 3.76 3.76 3.77 3.76 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.77 3.777 3.77 3.777 3.77 3.77 3.77 3.777 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77 3.77
3.773.773.77 3.77 3.77 3.77 3.77 V(SOC45%) = 3.77

V,=3.173.14 3.13 3.13 3.12 3.12 3.11 3.11 3.11 3.11 3.10 3.10 3.10 3.10 3.10
3.09 3.09 3.09 3.09 3.09 3.09 3.09 3.09 3.08 3.09 3.08 3.08 3.09 3.08 3.08 3.08 3.08 3.08 3.08
3.08 3.08 3.07 V= 3.70 3.74 3.75 3.75 3.75 3.75 3.75 3.75 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76 3.76
3.76 3.76 3.76 3.76 3.76 3.76 3.76 V(SOC40%) = 3.76

V,=3.163.14 3.13 3.12 3.11 3.10 3.10 3.10 3.10 3.09 3.09 3.08 3.08 3.08 3.08
3.08 3.08 3.08 3.07 3.07 3.08 3.07 3.08 3.07 3.07 3.07 3.07 3.07 3.07 3.07 3.07 3.06 3.06 3.06
3.06 3.06 3.06 V_ = 3.69 3.73 3.73 3.74 3.74 3.74 3.74 3.74 3.74 3.75 3.75 3.75 3.75 3.75 3.75
3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75 3.75

3.753.753.75 3.75 3.75 3.75 3.75 V(SOC35%) = 3.75
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V,=3.153.12 3.11 3.10 3.10 3.09 3.09 3.08 3.08 3.08 3.08 3.07 3.07 3.07 3.07
3.07 3.06 3.06 3.06 3.06 3.06 3.06 3.05 3.05 3.05 3.05 3.05 3.05 3.05 3.05 3.04 3.05 3.04 3.05
3.043.04 3.04 V= 3.673.71 3.71 3.72 3.72 3.72 3.72 3.72 3.72 3.73 3.73 3.73 3.73 3.73 3.73
3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73 3.73
3.733.733.73 3.73 3.73 3.73 3.73 V(SOC30%) = 3.73

V,=3.123.09 3.08 3.08 3.07 3.07 3.05 3.05 3.05 3.04 3.04 3.04 3.04 3.04 3.04
3.04 3.04 3.03 3.03 3.03 3.03 3.03 3.02 3.03 3.02 3.02 3.02 3.01 3.01 3.02 3.01 3.01 3.01 3.01
3.01 3.01 3.01 V__ = 3.64 3.68 3.68 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69
3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69 3.69
3.69 3.69 3.69 3.69 3.69 3.69 3.69 V(SOC25%) = 3.69

V,=3.08 3.05 3.04 3.03 3.02 3.02 3.02 3.01 3.01 3.01 3.00 3.01 3.00 3.00 3.00
3.00 3.00 3.00 2.99 2.99 3.00 2.99 2.99 2.99 2.99 2.99 2.99 2.99 2.98 2.98 2.98 2.98 2.98 2.98
297297297V, =3.613.66 3.673.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67 3.67
3.67 3.67 3.67 3.68 3.68 3.67 3.68 3.68 3.68 3.68 3.67 3.68 3.68 3.68 3.68 3.68 3.68 3.68 3.68
3.68 3.68 3.68 3.68 3.68 3.68 3.68 V(SOC20%) = 3.68

V,=3.06 3.03 3.02 3.01 3.00 2.99 2.99 2.99 2.98 2.97 2.97 2.97 2.96 2.96 2.96
2.96 2.96 2.96 2.96 2.96 2.96 2.95 2.95 2.95 2.95 2.95 2.95 2.94 2.94 2.94 2.94 2.94 2.94 2.93
293293293V  =3.583.63 3.64 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65 3.65
3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66 3.66
3.66 3.66 3.66 3.66 3.66 3.66 3.66 V(SOC15%) = 3.66

V,=3.04 3.02 3.00 2.99 2.98 2.97 2.96 2.96 2.95 2.95 2.95 2.95 2.94 2.94 2.94
2.94294 294294 2,94 293 2.93 2.93 2.93 2.93 2.93 2.92 2.92 2.92 2.92 2.92 2.92 291 2.91
291291291V _=3.563.60 3.62 3.63 3.63 3.63 3.63 3.36 3.63 3.63 3.63 3.63 3.63 3.63 3.63
3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64 3.64
3.64 3.64 3.64 3.64 3.64 3.64 3.64 V(SOC10%) = 3.64
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MANUIN U

T1)suns3 PIC16F877
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Tlsunsumvgansssasiaiamanuzszgueanunnes
#include <16F877.h> // Standard Header file for the PIC16F877 device
#include <math.h>
#device ADC =10 // ADC = 10 bit
#define CLOCK_SP 10000000 // Clock Speed(Hz)
#fuses HS // Oscillator mode HS
#fuses NOLVP, NOWDT // No Low Voltage Program, No Watchdog timer
#fuses NOPROTECT // Code no protection
#use delay (clock =CLOCK_SP) // Use built-in function: delay ms()&delay us()
#use rs232(baud = 9600, xmit = pin_c6, rcv = pin_c7)
#use fast_io(A)
#define vbe 0.00488758553274682306940371456509 // Vref/1023; Vref = 5 volt
#define LED PIN_ B0
void main(void)
{
int i;
int j;
int k;
int16 valuel;
int16 value2;
int16 value3;
float volt;
float amp;
setup_adc ports(ANO_AN1_AN3);
setup_adc(ADC_CLOCK_INTERNAL);
delay _ms(5000);
set_adc_channel(1);
delay us(10);
valuel = read adc();

volt = valuel;
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printf("V(SOC[0]) = %f ", volt*vbe);

delay _ms(5000);

j=0;
while(j<18)
{
1=0;
printf("Vt = [%d]", j+1);
while(i<36)
{
if(i==0)
{

output_high(LED);
set_adc_channel(1);
delay ms(10);

valuel = read adc();
volt = valuel;

printf(" %f", volt*vbe);
//set_adc_channel(3);
//delay ms(10);

//value2 = read adc();
//amp = value?2;
//printf("%f", amp*vbe);
delay ms(5000);

i+t
H
set_adc_channel(1);
delay ms(10);
valuel = read adc();
volt = valuel;

printf(" %f", volt*vbe);



//set_adc_channel(3);
//delay_ms(10);
//value2 = read adc();
//amp = value?2;
//printf("%f", amp*vbe);
delay ms(5000);
i+
if(i==36)
{
set_adc_channel(1);
delay ms(10);
valuel = read adc();
volt = valuel;
printf(" %f", volt*vbe);
//set_adc_channel(3);
//delay ms(10);
//value2 = read adc();
//lamp = value?2;
//printf("%f", amp*vbe);
delay ms(5000);
output_low(LED);
H
H
delay ms(57000); //delay 57 s
//Open circuit Voltage
set_adc_channel(1);
delay us(10);
value3 = read adc();
volt = value3;

printf(" V(SOC[%d]) = %f\n\r", j+1, volt*vbe);
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delay_ms(5000);
s
H
Tsunsumsiszanamamuzilszquuueelasi
#include <16F877.h> // Standard Header file for the PIC16F877 device
#include <math.h>
#device ADC =10 // ADC = 10 bit
#define CLOCK_SP 10000000 // Clock Speed(Hz)
#fuses HS // Oscillator mode HS
#fuses NOLVP, NOWDT // No Low Voltage Program, No Watchdog timer
#fuses NOPROTECT // Code no protection
#use delay (clock =CLOCK_SP) // Use built-in function: delay ms()&delay us()
#use rs232(baud = 9600, xmit = pin_c6, rcv = pin_c7)
#use fast_io(A)
#define vbe 0.00488758553274682306940371456509 // Vref/1023; Vref = 5 volt
#define LED PIN_Bo0
void main(void)
{
int i;
int16 valuel;
int16 value2;
float volt t;
float volt_open;
float volt Ri;
float volt Rd;
float amp;
float amp1;
setup_adc ports(ANO_AN1_AN3);

setup_adc(ADC_CLOCK INTERNAL);
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delay_ms(5000);
set_adc_channel(1);
delay ms(10);
valuel =read adc();
volt_open = valuel;
printf("Volt_open_circuit = %f \n\r", volt_open*vbe);
delay _ms(5000);
1=0;
while(i<10000)
{
output_high(LED);
set_adc_channel(1);
delay ms(10);
valuel =read adc();
volt_t = valuel*vbe;
set_adc_channel(3);
delay ms(10);
value2 =read adc();
amp = (value2*vbe);
ampl = amp/1.85;
volt Ri=ampl1*0.547;
volt Rd =amp1*0.033;
volt_open = (volt_t) + (volt Ri) + (volt Rd);
if(4.10 <= volt_open)
printf("SOC = 100 Percent \n\r");
if(4.07 <= volt_open && volt_open < 4.10)
printf("SOC = 95 Percent \n\r");
if(4.02 <= volt_open && volt_open < 4.07)
printf("SOC = 90 Percent \n\r");

if(3.98 <= volt_open && volt_open < 4.02)



printf("SOC = 85 Percent \n\r");
if(3.95 <= volt_open && volt _open < 3.98)
printf("SOC = 80 Percent \n\r");
if(3.92 <= volt_open && volt _open < 3.95)
printf("SOC = 75 Percent \n\r");
if(3.89 <= volt_open && volt open < 3.92)
printf("SOC = 70 Percent \n\r");
if(3.85 <= volt_open && volt _open < 3.89)
printf("SOC = 65 Percent \n\r");
if(3.82 <= volt_open && volt_open < 3.85)
printf("SOC = 60 Percent \n\r");
if(3.80 <= volt_open && volt open < 3.82)
printf("SOC = 55 Percent \n\r");
if(3.79 <= volt_open && volt open < 3.80)
printf("SOC = 50 Percent \n\r");
if(3.78 <= volt_open && volt open < 3.79)
printf("SOC = 45 Percent \n\r");
if(3.77 <= volt_open && volt open < 3.78)
printf("SOC = 40 Percent \n\r");
if(3.76 <= volt_open && volt_open < 3.77)
printf("SOC = 35 Percent \n\r");
if(3.74 <= volt_open && volt_open < 3.76)
printf("SOC = 30 Percent \n\r");
if(3.71 <= volt_open && volt_open < 3.74)
printf("SOC = 25 Percent \n\r");
if(3.68 <= volt_open && volt_open < 3.71)
printf("SOC = 20 Percent \n\r");
if(3.67 <= volt_open && volt_open < 3.68)

printf("SOC = 15 Percent \n\r");
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if(3.65 <= volt_open && volt _open < 3.67)
printf("SOC = 10 Percent \n\r");
if(3.60 <= volt_open && volt_open < 3.65)
printf("SOC = 5 Percent \n\r");
if(volt_open < 3.60)
printf("SOC = 0 Percent \n\r");
delay _ms(5000);

i+

b
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